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’ 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 6.36 79.97 | Fnlist | 000 ~ 6.36 | 1.87 9.99 ZznLst 1.00] 500 ~ 7.70 7997 | FhList | 500 ~ 7.70 | 1.87 9.99
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 6.08 76.29 | #nlist | 000 ~ 0.00 | 1.58 8.45 ZznLst 1.00 | 500 ~ 7.60 76.29 | #hList | 500 ~ 760 1.58 8.45
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 6.22 78.13 | #nlist | 000 ~ 6.22 | 2.06 11.00 ZznLst 1.00 | 500 ~ 8.70 78.13 | #nList | 500 ~ 8.70 | 2.06 11.00
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 6.53 8231 | #nList | 000 ~ 653 | 1.99 10.67 ZznLst 1.00 | 500 ~ 8.80 8231 | Zxnkl4t | 500 ~ 8.80 | 1.99 10.67
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 552 68.88 | #nLkist | 000 ~ 552 223 11.93 ZznLst 1.00] 500 ~ 9.10 68.88 | #nLi4t | 500 ~ 9.10| 2.23 11.93
" 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 6.18 7752 | N4t | 000 ~ 6.18 | 2.09 11.16 ZznLst 1.00 ] 500 ~ 8.90 7752 | #hist | 500 ~ 890 | 2.09 11.16
; 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ThLS 1.00 | 000 ~ 477 5947 | #hbLlst | 000 ~ 477 | 1.75 9.34 ThLS 1.00| 500 ~ 500 5947 | #hbkls | 500 ~ 500 | 1.75 9.34
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m## 825 ~ ImEHEZD ~
ThLS ~ Zh s ~ ThLS ~ ZhLlst ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHEZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZ D ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHEZD ~
ZhLS ~ Zh s ~ ZhLS ~ Zh Lot ~
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